Tozsamosci trygonometryczne:
sin® a +cos® a =1
sin(a+ ) =sina-cos f+cosa -sin

cos(a+ f8)=cosa -cos BFsina -sin B
sin2a = 2sina - cosa
C0S2a = cos” o —sin’ «

Wzory redukcyjne:

sin(—a)=-sina cos(—a)=cosa
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sin| ——a |=cosa cos| =—a |=sina
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sin| =+a |=cosa cos| =+a |=-sina
5+ 5+

sin(z—a)=sina cos(7—a)=—-cosa

sin(z+a)=-sina cos(7+a)=—-cosa
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sin|] ——a |=—cosa Cos| ——a |=—-sina
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sin| —+a |=—-cosa cos| —=+a |=sina
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sin(2z7 —a)=-sina cos(27 —a)=cosa

sin(2z +a) =sina cos(2z +a)=cosa

Twierdzenie cosinusow:

c? =a’ +b?—2abcosa

Twierdzenie sinusow:

a b ¢
sing  siny sina
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